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MEC-005 : INDIAN ECONOMICS POLICY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instruction 

given. 

SECTION - A 

Answer any two of the following questions in 
about 700 words each. 	 2x20=40 

1. What do you mean by the term "Economic 20 
Policy" ? Examine the dynamics of formulation 
of economic policies in India. Also, identify the 
causes of failures of economic policies in India. 

2. What are the various measures of employment 20 
and unemployment ? Do you think CDS criterion 
is the most inclusive measure of employment ? 
Why ? 

3. 'Indian agriculture needs more capital investment 20 
for a much awaited technological change as a 
policy measure' - In the light of this statement what 
policy changes would you suggest ? 
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4. Examine the role of foreign capital in an emerging 20 
economy like India. Also examine the suitability 
of foreign direct investment in this context. 

SECTION - B 

Answer any five questions in about 400 words 
each. 	 5x12=60 

5. Distinguish between money market and capital 12 
market. Examine the role and significance of a 
well - developed capital market in the growth 
process of an economy. 

6. Do you think that decentralisation is better 12 
alternative to bureaucracy in effective 
implementation of economic policy ? Give 
illustration in support of your answer. 

7. Explain any three of the following : 

(a) Market and non-market incentives 

(b) Black economy 

(c) Micro Finance Policy 

(d) Poverty gap index 

(e) Policy towards subsidies on fertilisers 

3x4=12 

8. What do you mean by foreign exchange 12 
reserved ? How are they accumulated ? Explain 
with the help of balance of payment statement. 

9. Make a critical assessment of industrial policy in 	12 
India since 1991. 
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10. Critically evaluate the monetary policy of the 12 
Reserve Bank of India. 

11. What is public distribution system in India ? Has 12 

it successfully worked as an instrument of 
economic policy in India ? Why or why not ? 

12. Distinguish between any three of the following : 

(a) Labour Force and Work Force 	3x4=12 

(b) Organised Labour and Unorganised Labour 

(c) Planning Commission and Finance 
Commission 

(d) Foreign Direct Investment and Portfolio 
Investment 

(e) Loan and Private Investment 
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x-it 0 4 19-FT 700 	 I 

1. " Tf 	-r1fd"-A 3-1-FT ,Efr TF1=PT 	9-ITTUcn1 	 3iir2f* 	20 

Fd f9Triirr 	-9-f-wzrr 	4ucri .0ITR-d-1-4 3Trk 
d cn1 mar -wr0-4 1-)1 -q-d-r-4 

2. 1,11' 	, 1,1 ,11ktf-df11- 	4-11(-1ch 	t? ci-qi 	20 

31T t:11 	t 	 -ft-2Tfdt 4-11,-Kus 

T11:1Tf0 (most inclusive measure) 

HILicht? .4? 

3. rd I cl 	 irr-cd-17 VET and ,Ronici 1f 	20 

ch fict 	l  	31-N-T 13i1, 	id Fa 	Fvii ch`l 

31-{-4FT-*-at - 	-t)-jt 31-Fr 	-A 
41rdim Hroki-if on 	I 	ry ? 
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4. 	1-1R-ff 	3T2.faT-zu 	 OT-*-7 shI 	20 
-ctuur rF I 	4of fa 11 	rar-viln 

u - 

F-1 4-16 r 	d -44 	TIN 7qt ch 13711 I7 -W 1;17i 
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5. 	 f-*7#344---q-T-24-r 12 
c,h1 #1-F-4 -9-fwzrr qracnPid 	IHR 	91-f7-*-7 
1 =h I 1=F -1771 	I 

	

6. 	TM 374 t=rr 	f 3-Trf2tT -11rd 	 12 
rci -c1,- 1.nui, 31-chrt chl 	facer r t? 34-74 

-14 	 

	

7. 	 f-+-t 	0,Arks,q1 	: 	3x4=12 
(a) -q-177 74 117 -4T -FT -14.1- c-Ilch (Market and 

non-market incentives) 

(b) ITT (Black economy) 

(c) fay -11rcl 

(d) fffq-9-ffT 

(e) 	 -1711 TrN-r 	-nrci 

8. 	fd Tf 1V1 rIT 	31-rcr aza Tricrj -  t'? 3-f ch I 	t-4 
	

12 

911-FdTi 

cf-Ci 
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9. 1991 -4 9-1-R—dtzr 311-frFr-  11 rd ci i 31-1-09-FITT 4-1,(-1 11,1 	12 

---Tri-A7 I 

10. crwr 

I 

 

Itc-- -11,4-) -1 	12 

 

11. -114,3-t -11-) f4--d-Tur 	err ? 91-Fatzr 
	

12 

	t #44 Tcr qzrr 	W-hrf t61 	qzlf 342IM 

;Efi' 16? 

12. -F-t 4-iror{_qd 	fWt d 'k -41-9 31- 	 3x4=12 

(a) $3114 7ff-- f 7d 

(b) TI=T 	3-1-4TTr-8d Tl=f 

(c) 3-Trzh 74 f4u 31-rtrr 

(d) r T i4k711.  W-R1)4I 74 4'.-‘41 	i1 f~ci •-fq 

(e) Dr 74 (-irci-c-ici-) rc1 -R1 4 1 
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